
cost (i,j) = costofthe least expensive operation sequence thattransforms
etc....) to y[1....j]. (At termination the idapts

for a &y would be at

its & it respectively)
·

cost(i-1,j-1) + copy from: to; only jx[i]==y[j]

cost(i-1, j-1) + replace at j
1)]

cost(i,j) =cost(i-1,j) + delete at: i-112s

:-D]
·cost(i,j-1)+ insert at I

cost(i-1,j-1)+ twiddle isonly ifisj58

x[i] ==y[j-1]0 aTi-1) =y[s)
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for;in range(0, n+1):

cost(0,j) =3* cost(insert)

for; in range (0, m+1):

cost(i, 0) =
i * cost (delete)

for;in range (1, m+1)

for j in range (,n+)
cost(i,j) =min (cost(i -1,j-1)+cost(copy) ifati) ==yts] else int,

cost (i -1,j-1) + cost(replace),

cost(i -1,j) + cost (delete),

cost(i, j-1) + cost (insert),
cost(i-1j-1) + istwiddle) ifi < 20j<2

& es [i] ==y[j-1
& x[i-1 = =y55]

else int)


